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name = ["A","B","C", D", "E"]

test=[85,60, 5,100, 50

sum =0

test.each{ |i| SERE
sum += i

} 2 w=a)

average = sum/testlength [*=\—

REMED

# coding: Windows-31J
name =["A","B","C","D", "E"]
test=[85,60,5,100,50]
sum =0
test.each( |i|
sum +=i
}

average = sum / test.length
print( "Et9{E ---> ", average , "¥n" )

sum=0
test.each( |i|

sum += (i - average ) * (i - average )
}

s = Math.sqrt( sum / test.length )
print( "{R#ERE —>",s,"¥n")
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j=1~8IZH T, (a-1]+a[j]+alj+1])/3
é*&)ﬁéb‘(*gﬁqzﬁ]) Z:¥Ruby>ruby sample.rb

2191341761227 869393

a=1 219134->48

= 913417 -> 47
10.times{ [i| 341761->37

a[i]=rand(100)+1 g g; 52 ->3g3

} print(a[i], ) 22786 :> 38
print("¥n" ) 36 53,63 » a0
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a=||

10.times{ [i|
ali]=rand(100)+1
print(afi],"")

}

print( "¥n" )

(1..8).each{ |i|

print(a[i-1],"",a[i],"",a[i+1] ,"->")
print( (a[i-1]+a[i]+a[i+1])/3, "¥n")

}
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(1..8).each{ [il
sum=0
(-1..1).each{ |j|
print(ali+j],"")
sum += a[ i+j ]
}

print("->",sum /3, "¥n")
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(0..10).each{ |x|

(0..10).each{ |y| pvr—— s
. __ ¥Ruby>ruby sample.r
if x+y == 10 then x=0y= 10

print("x=",x,"y=",y, "¥n" RSHECE]
x=2y=8
end x=3y=7

} x=4y=6

} x=5y=5
x=6y=4
x=7y=3
x=8y=2
x=9y=1
x=10y=0
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(0..10).each{ |x|
(0..10).each{ |y|
if X*x+y*y == 100 then
print("x=",x,"y=",y, "¥n")

end
} Z:¥Ruby>ruby sample.rb
x=0y=10
} x=6y=8

x=8y=6
x=10y=0
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Z:¥Ruby>ruby sample.rb
100000001
010000010
001000100
000101000

Z:¥Ruby>ruby sample.rb
00

000010000
000101000
001000100
010000010
100000001

[=NeNoNal e NoNoNa}
[=NeNoNel e NoNoNa}
[=NeNoNol e NeNe N
[=NeNoNel oo NeNe)
[=NeNeNel e NeNeNe)

0
0
0
0
1
0
0
0
0
|

0
0
1
0
0
0
0
9

917951 |
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9.times{ |y|
9.times{ |x|
if x ==4 ory ==4 then
print("1")
else
print("0")
end
}
print( "¥n" )
}
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(1..9).each{ |x|
(1..9).each{ |y|

if x == (10-y) or x ==y then

print("1")
else
print("0 ")
end
}
print( "¥n" )

Z:¥Ruby>ruby sample.rb
100000001
010000010
001000100
000101000
000010000
000101000
001000100
010000010
100000001
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Z:¥Ruby>ruby sample.rb 56 23 12 234 25 126 78 11
FHfE 70.625
=/ME 1

=AJE 234

REMES

# coding: Windows-31J

n=ARGV.length
sum =0
max = ARGV[ 0 ].to_i
min = ARGV[ 0 J.to_i
n.times{ [i|
x=ARGV[ i]to_i
sum += x
if max < x then
max = X
end

if min > x then
min = x
end

}

print( " FH{E ", sum.to_f/n, "¥n")

print( " &/ME ", min , "¥n")
print(" JAfE ", max , "¥n")




